Number Bonds Challenge

Maths homework - Orange and red tables

14+5= 51+6=
13+ 4= h+54=
21+7= B2+5=
5+23= 53+6=
T+22= 60+7=
31+8= he63=
0+37= 61+7=
L+3h= 75+4=
L2+5= 99+0=
Q+40= 3+6=
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You can use this 100 square to help you.

(If you keep it in a safec place it might help you with

other homework too!)

100 Square

1 2 3 i 5 L 7 8 9 10
11 | 12 | 13 | 24 | 15 16 | 17 18 | 19 | 20
21 22 23 26 25 26 27 28 29 30
31 32 33 36 35 36 37 £ a9 Ll
41 42 &3 &4 &5 46 &7 48 &9 50
51 52 53 54 55 56 57 58 59 &0
61 62 63 2] 65 &6 &7 68 &9 10
| T2 | 3|V | VS | 76 | 7T | T8 | 1Y
81 | 82 | 83 | &, | 85 | 86 | 87 | 88 | B9
91 | 92 | 93 | 9% | 95 | 96 | 97 | 98 | 99 | 100

Please write the sums in your maths book - do not write on the sheet or stick the sheet in your book.

Thank you.



